Spegel Sommen /Mirror Sommen Artnr. 508916

== e

Sommen 500 Sommen 600 Sommen 750 Sommen 900 Sommen 1000

1 i
Sommen 1200 Sommen 1500 Sommen 2000

MATTANGIVELSER /Measurements

Note 2 100 Note 1: c/c-matt for regel i vagg och faste for spegel.
spacing from floor to joist in wall and for mounting dimensions.
1898 Note 2: se tabell.
1847 Note 1 + 1 see table.
Matt /
Spegelbredd / ; ;
1695 Width of mirror D(I;\Tl] §t25|2c;n
500 150
600 200
750 275
900 350
1400
1000 400
1200 210
1500 275
1227 Note 1 + —+—
1178 —1 2000 400




Art.r. 508916 Spegel Sommen /Mirror Sommen

MONTERING /Assembling

1 Skruva upp vaggplattan med medféljande fyra skruvar (@6x70 mm) 1

Secure the wall plate using the four enclosed screws (@6x70 mm) and
och plugg (40x8 mm) enligt mattangivelser.

plugs (40x8 mm) according to the measurements.
2. Skruva fast de fyra medfoljande spegelfastena i vaggplattan i de
forborrade halen, anvand skruv 4x15 mm. For spegel i bredd 1500

mm anvands fem spegelfasten, for spegel 2000 mm anvands sex
spegelfasten.

2. Secure the four mirror clips on the wall plate in the predrilled holes,
use screws 4x15 mm. For mirrors in width 1500 mm, use five mirror
clips, for mirrors in 2000 mm use six mirror clips.

3. Hook the mirror on to the mirror clips.
3. Kroka fast spegeln i spegelfastena.

% 4st
Verktyg \ 40x8 mm
%

Tools

@6x70 mm

w;‘,“, 4-6 st
'( 4x15 mm
=
4-6 st




